125

Allen screw

M8X35 T.C.E.I.Z.B,

Cod.200319

DB-Killer N°32 B

Cod.307762801

N°2 Allen screw

Co0d.206723

M12X50 T.C.E.I.Z.B,

N°2 Alluminium spacer
SBK d.25X12.5X13
TO COVER HOLES

Alluminium spacer|
SBK d.27X8.5
Co0d.204321

Grower 12x21

Cod.200325

D Plain washer 12x24
@ [Cod.200325

_ @39
Flange 25b

Plain washer 8x24
Co0d.200321

Knurled collar nut M8
Co0d.200298

Aluminium
bracket silencer
Cod.206312

Screw T.E.Z.B M12x60

Cod.205403

Cap N°57
Cod.308078804

Gasket
23,85X18,3X1,5
Cod.202185

Plug M18x9
Cod.204888

OF ORIGINAL FRAME

Short helical spring

Pipe N° 1079
Cod.3014026201

tensile
BIG silencer Short tube in
NERO @i 50 silicon rubber
Co0d.3014000471 Cod.204412
Art. 14026

YAMAHA X-MAX 250

Full System 1/1 - "NERO" - APPROVED




	Model
	Vista del disegno1
	Vista del disegno2
	Vista del disegno3


